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PiecewiseFunction for No.2

+5 ; x<=-2 0 ;X< 2
NoO]:[x o } No02=|-2x—-4 : 2 <x<2
2x-1 ; x> -2
x+4 x> 2
NoO3=[a=-4,b=-3,c=-2,d=1,e=4]
NoO4=[a=-2,b=-1,c=1,d=2,e=3]
NoOS=[a=-7,B=-5,y=1,0=2,e=10]
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PiecewiseFunction Answers for No.2

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| 1 -1 | -3 | -5 | =7 | -9 | -11 | -13 | -15 | -17 | -19 | -21
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | Ol NA| -2 | -4 -6 NA | 7 8 | 9| 10| 11 | 12 | 13 | 14 |
Ans03
l-x ; x<=-2
f(x){
2x-3 ; x> -2
f('4):5’ af('3):47 ,f(-2)23, af(l):'la ’f(4):5
Ans04
-34+x x< -2
flx)=| -5 ; 2<=x<=1
2x+1 ; x> ]
f(-2)=-5, ,f(-1)=-5, ,f(1)=-5 ,f(2)=-3, ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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